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@25 R—2 1012 aVE21—4LF IR 71T
(R] FICMM+H1=11EWKIGEE

[(E] FIM+H1=21E0SK5GFE
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@72 R—L HEBDOTOISL Thb2~11TH
[E2] oprintf(" ¥¥t is tab Symbol ”);

[IE] printf(” ¥¥t is tab Symbol “);

return 0;

Q73 R—y ETHR
[i8] The pen is mightier
than the sword
[IE] The pen is mightier
than the sword MBEE[ZAR—ANAS,

0213 RX—Y JOJ T4
[:&] scanf("%d,%d” &base, &height);

printf("%d¥n” tri(base, &height));

return 0;

int tri(int base,int &height)
{
return base * height / 2;

[IE] scanf("%d,%d” &base,&height);
printf(“%d¥n” tri(base,height));

return O;

]
int tri(int base,int height)

int num
num=base * height / 2;
return num

}

@233 ’\o—:/ 1178
2] =8
(iE] RI=E 5

@255 R—2 OS54 3~41TH
[E&]) int main(void)
[IE] { int main(void)

@317 R— E@lOTOIS L EhB8ITEH(ZTEED)
[E2] array[10] ={15,78,98,15,98,85,17,35,42, 15}
[EE] int array[10] —{15 78,98,15,98 8517354215};

@367 X— [E3 JOJSLD71TE
[FR2]) fwrite(&dat,sizeof(dat),1,fp);
[E] fwrite(dat,sizeof(dat),1,fp):

@389 R—2 TOU 5L 6~81TH (3 AFT)
(2] OLYMIPC_
[IE] OLYMPIC_

@390 R—> JO4sS5L 4.7.10,21,.23,.26 1TH
[i8] OLYMIPC.
[IE] OLYMPIC_

@424 R—L KX THb21TH
[F2)] sizeof BH%X
[EE]) sizeof [EEF

<KEYHR—FHAL> http://www.shuwasystem.co.jp/support/7980html/3014.html
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